
 
 
 
 
 
 

De050−7X: Measurement: 9 step equidistant colour series, Interpretation: rgb −> olv*, adapted, TLS18a LUT−data of De000−7 used

De050−1A, 4

System: TSL18
Hue: h*O = 38/360; h*C = 236/360

Linear relation CIELAB ( L*, a*, b* ) and adapted (a) CIELAB ( C*ab,a, L* )

l* lab* = ( L*  − L* N ) / (L* W − L* N )

a*a = a* − a*N − l* lab* [ a*W − a*N ]

b*a = b* − b*N − l* lab* [ b*W − b*N ]

C*ab,a = [ a*a
2 + b*a

2 ] 1/2
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De050−2A, 4

System: TSL18
Hue: h*Y = 96/360; h*V = 305/360

Linear relation CIELAB ( L*, a*, b* ) and adapted (a) CIELAB ( C*ab,a, L* )

l* lab* = ( L*  − L* N ) / (L* W − L* N )

a*a = a* − a*N − l* lab* [ a*W − a*N ]

b*a = b* − b*N − l* lab* [ b*W − b*N ]

C*ab,a = [ a*a
2 + b*a
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De050−3A, 4

System: TSL18
Hue: h*L = 151/360; h*M = 354/360

Linear relation CIELAB ( L*, a*, b* ) and adapted (a) CIELAB ( C*ab,a, L* )

l* lab* = ( L*  − L* N ) / (L* W − L* N )

a*a = a* − a*N − l* lab* [ a*W − a*N ]

b*a = b* − b*N − l* lab* [ b*W − b*N ]

C*ab,a = [ a*a
2 + b*a

2 ] 1/2
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De050−4A, 4

System: TSL18
Linear relation CIELAB ( L*, a*, b* ) and adapted (a) CIELAB ( C*ab,a, L* )

l* lab* = ( L*  − L* N ) / (L* W − L* N )

a*a = a* − a*N − l* lab* [ a*W − a*N ]

b*a = b* − b*N − l* lab* [ b*W − b*N ]

C*ab,a = [ a*a
2 + b*a

2 ] 1/2

CIELAB hue angles: 
hab,d = [34, 103, 136, 196, 304, 328]

a*a = C*ab,a cos hab

b*a = C*ab,a sin hab
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De050−5A, 4

System: TSL18
Hue: h*O = 38/360; h*C = 236/360

Adapted (a) CIELAB ( C*ab,a, L* ) and relative CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c* lab* = C*ab,a / C*ab,a,M

M = Maximum colour
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De050−6A, 4

System: TSL18
Hue: h*Y = 96/360; h*V = 305/360

Adapted (a) CIELAB ( C*ab,a, L* ) and relative CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c*lab* = C*ab,a / C*ab,a,M

M = Maximum colour
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De051−7A, 4

System: TSL18
Hue: h*L = 151/360; h*M = 354/360

Adapted (a) CIELAB ( C*ab,a, L* ) and relative CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c* lab* = C*ab,a / C*ab,a,M

M = Maximum colour
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De051−8A, 4

System: TSL18
Adapted (a) CIELAB ( C*ab,a, L* ) and relative CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c*lab* = C*ab,a / C*ab,a,M

M = Maximum colour
CIELAB hue angles: 
hab,d = [34, 103, 136, 196, 304, 328]

a* lab* = c* lab*  cos hab

b* lab* = c* lab*  sin hab
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relative chroma a* lab*
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De051−1A, 4

System: TSL18
Hue: h*O = 38/360; h*C = 236/360

Linear relation adapted (a) CIELAB ( C*ab,a, L* ) and relative CIELAB ( c*, t* )

l* M = (L* M − L* N) / (L* W − L* N)

t* lab* = l* lab* − c* lab* [ l* M − 0,5 ]

c* lab* = C*ab,a / C*ab,a,M

M = Maximum colour
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De051−2A, 4

System: TSL18
Hue: h*Y = 96/360; h*V = 305/360

Linear relation adapted (a) CIELAB ( C*ab,a, L* ) and relative CIELAB ( c*, t* )

l* M = (L* M − L* N) / (L* W − L* N)

t* lab* = l* lab* − c* lab* [ l* M − 0,5 ]

c* lab* = C*ab,a / C*ab,a,M

M = Maximum colour
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De051−3A, 4

System: TSL18
Hue: h*L = 151/360; h*M = 354/360

Linear relation adapted (a) CIELAB ( C*ab,a, L* ) and relative CIELAB ( c*, t* )

l* M = (L* M − L* N) / (L* W − L* N)

t* lab* = l* lab* − c* lab* [ l* M − 0,5 ]

c* lab* = C*ab,a / C*ab,a,M

M = Maximum colour
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De051−4A, 4

System: TSL18
Linear relation adapted (a) CIELAB ( C*ab,a, L* ) and relative CIELAB ( c*, t* )

l* M = (L* M − L* N) / (L* W − L* N)

t* lab* = l* lab* − c* lab* [ l* M − 0,5 ]

c* lab* = C*ab,a / C*ab,a,M

M = Maximum colour

CIELAB hue angles: 
hab,d = [34, 103, 136, 196, 304, 328]

a* lab* = c* lab*  cos hab

b* lab* = c* lab*  sin hab

b* lab*

relative chroma a* lab*

−1,0    

−1,0 

 

 

1,0

O

C

Y

V

L

M

De051−5A, 4

System: TSL18
Hue: h*O = 38/360; h*C = 236/360
Result: c*olv* = c* lab*; t*olv* = t* lab*

Linear relation olv* and relative chroma c*olv* and triangle lightness t*olv*

c*olv* = max (olv*) − min (olv*)

n*  = 1 − max (olv*) =  1 − i*

w* = min (olv*) =  1 − d*

t*olv* = w* + 0,5 c*olv*

M = Maximum colour
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De051−6A, 4

System: TSL18
Hue: h*Y = 96/360; h*V = 305/360
Result: c*olv* = c* lab*; t*olv* = t* lab*

Linear relation olv* and relative chroma c*olv* and triangle lightness t*olv*

c*olv* = max (olv*) − min (olv*)

n*  = 1 − max (olv*) =  1 − i*

w* = min (olv*) =  1 − d*

t*olv* = w* + 0,5 c*olv*

M = Maximum colour
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De051−7A, 4

System: TSL18
Hue: h*L = 151/360; h*M = 354/360
Result: c*olv* = c* lab*; t*olv* = t* lab*

Linear relation olv* and relative chroma c*olv* and triangle lightness t*olv*

c*olv* = max (olv*) − min (olv*)

n*  = 1 − max (olv*) =  1 − i*

w* = min (olv*) =  1 − d*

t*olv* = w* + 0,5 c*olv*

M = Maximum colour
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De051−8A, 4

System: TSL18
Result: c*olv* = c* lab*; t*olv* = t* lab*

Linear relation olv* and relative chroma c*olv* or chroma a*olv*, b*olv*

c*olv* = max (olv*) − min (olv*)

n*  = 1 − max (olv*) =  1 − i*

w* = min (olv*) =  1 − d*

t*olv* = w* + 0,5 c*olv*

hab,d = [34, 103, 136, 196, 304, 328]

a*olv* = c*olv*  cos hab

b*olv* = c*olv*  sin hab

b*olv*

relative chroma a*olv*
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